
1) 135 ÷ 15

Answer: ____________

2) (-24) ÷ 12

Answer: ____________

3) 1800 ÷ 100

Answer: ____________

4) What would you multiply by to 
decrease an amount by 80%?

Answer: ____________

5) An amount was decreased by 6% to 
$465.00. Find the original amount.

Answer: ____________

6) (-83) - 65

Answer: ____________

7) 99 + 2

Answer: ____________

8) Convert the following fraction into a 
mixed number: 9/2

Answer: ____________

9) Factorise q2 + 6q + 9

Answer: ____________

10) An amount was increased by 2.5% to 
$32.00. Find the original amount.

Answer: ____________

11) A number is chosen at random from 
1 to 25. Find the probability of 
selecting multiples of 7 and 10.

Answer: ____________

12) 22/10 ÷ 51/2

Answer: ____________

13) Increase 50 by 74%

Answer: ____________

14) Increase 58 by 50%

Answer: ____________

15) (-180) ÷ (-10)

Answer: ____________
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16) Factorise q2 + 8q + 12

Answer: ____________

17) (10 x 48) x (4 x 2-2)

Answer: ____________

18)

'Name the type of angle.

Answer: ____________

19) 14.7 + 18

Answer: ____________

20) 22% of 23

Answer: ____________

Total: ___ / 20
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Answers:

1) 9 2) -2 3) 18 4) 0.2 5) $437.10 6) -148 7) 101

8) 41/2 9) (q + 3)(q + 3) 10) $31.22 11) 1/5 12) 2/5 13) 87 14) 87

15) 18 16) (q + 2)(q + 6) 17) 655360 18) Straight 19) 32.7 20) 5.06
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